Name:

116 - 40 = ___ 165 - 60 =___ 173 -
60 - 60 =__ 87 - 60 =__ 155 -
25 - 10 =___ 114 - 80 =_ 120 -
129 - 40 = __ 66 - 30 =_ 189 -
78 - 70 = ___ 128 - 40 = ___ 88 -
190 - 70 = ___ 126 - 40 = __ 37 -
171 - 90 = 77 - 70 =

SubtracCtion : |ots of 10 from humbers up to 200.

40 =
40 =
30 =
90 =
40 =

20 =

Working Mathematically
1) I have 157 stamps in my collection. I sold 30 of
them. How many stamps remain in my collection.

2) A bus drove 120 children to the swimming carnival.

If 50 children go home with their parents how
many need to return on the bus?

3)
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188 people attended the picnic day. 60 children ordered

a picnic pack and the remainder brought their own lunch.

How many children brought lunch from home?

4) We had 174 plants in the vegetable garden. The

dog dug up 40. How many plants remain?
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